Anglo-Chinese School (Junior)
Mathematics Practice (4) .
° Primary 2

Name: e { } Date:

Class: P2. ‘ * Marks : 130

Section A: (5 x 2 marks)

For Questions 1 to 5, choose the corréct answer and write its number
(1, 2, 3or4)inthe brackets provided.

1 Peter does 4 problem sums each day.
How many problem sums will he do in _6_,days?

(1) 10
(2) 24
(3) 28
(4) 46 ¢

2 Lyn bought 5 pizzas.
- She divided each pizza into 8 equal slices.
How many slices are there altogether?

(1) 13
(2) 35
(3) 40
(4) o8 ()

3 Fred has a rope of length 50m.
] He cuts the rope into 10 equal pieces -
What is the tength of each piece?

(1) 5m

(2) 6m

3) 40m

(4) 60m - ( )

3Y



4 My Lim has 27 kg of potatoes.
He packs them equally into 3 sacks.
What is the mass of one sack?

(1) 6kg
(2) Skg
(3) 24 kg
" (4) 30kg (

5 Tom arranges 4 sticks of length 9 cm each in a straight line.
What is the total length of the sticks?

(1) 13 cm
(2) 32cm
(3  36cem . o : .
4) 49 cm ( .

' Sélctio.‘;.l_‘_B‘: (1 0 marks).. .
Complete all questions.
6 A baker puts 28 buns equally inta 4 boxes.

Each box has buns.

7 Colin has 3 boxes of marbles.

Each box has 7 marbles. -

There are marbles alfogether.
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i1 Stick :
C(I== =— !
: Pencil :
{a) The spoon is about cm long.
(b) The and are of the same
dength. -
(¢c) . The pencil is about - - cm shorter than the spoon.
(d)  The total length of the stick, pencil and spoon is ' cm.

9

(a) The mass of the hamburger is qa.

(b} The mass of the hotdog is g.

(¢) The hamburger is heavier than the hotdog by g.
{d) The total mass of the hamburger and hotdog is q.
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"Section C: (10 marks)

Show your working clearly. You méy draw models o help you. Marks
are awarded for correct number sentences and word statements.

10 Mrs Tan has 30 cupcakes.

(@) If each child gets 3 cupcakes, how many children are there?

" (b) If there are 6 children, how many cupcakes will each child
get? : ' :




11 A pole is 580 ém long.
Ali paints 188 cm of it with blue paint.
He paints 324 cm of it with red paint.

(@) What length of the pole is painted blue and red?

(b) What length Jf the pole is not-painted? ~

o



(=4

12 Joe has 2 fish tanks. There are 7 turtles in each tank.
.How many turtles does he have altogether?

The End
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721
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8b} pencil aﬁd stick
8c) 1

8d) 22

9a) 220

9b) 80

9c) 140

9d) 300

10a) 30 = 3 =10
There are 10 children.
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10b)30+-6=5 .
Each child will get 5 cupcakes. 0

11a) 188 + 324 =512
- The length of the pole painted blue and red is 512 cm.

11b) 590 -512 =78
The length of the unpainted pole is 78 cm.

12)7x2 =14
He has 14 turties.
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Name:

Anglo-Chinese School (Junior)
Mathematics Practice (5)
Primary 2

{ } Date:

Class: P2.

Marks: 130

Section A: {5 X 2 marks)

For Questions 1 to 5, choose the correct answer and write its number
(1, 2, 3 or 4) in the brackets provided.

1 $2.80 is the same as

(1

@
3)

(4)

()

@

(3)
“4)

28¢ L
0.28 ¢
280¢

280¢ - | | ()

Which of the foll-owing is the greatest amount?

$14.52 -
$14.25
$21.54

$21.45 ()

5



. (3)

Each chocolate bar costs $2.
Amy bought 6 similar chocolate bars.
How much did she pay altogether?

(1) $10
(2) $12
(3) $14

(4) 316

Which of the following is the smallest fraction?
ORE-
@ +
3

@ =

What is 1 - % equal 107

1
W 1
p 5
@ 3
7
9
8
@ 3




Section B: {10 marks)

Complete all questions.

6a)

b)

7a)

b}

8)

9)

16

950 cents = $

8 twenty-cent coins = tefi-cent coins

Seven dollars and twenty-five cenits = §

Fighty dollars and sixty-two cents in figures is $

- Circle the greater amount.

(@) $25.05 (b) $25:50

Circle the smaller amount.

(a) $48.80 ' (o) $48.08 -

Arrange each set of fractions in order.

Begin with the greatest fraction.

O b
O | R
|~

greatest



b)  Begin with the smallest fraction.

3

L 1 1
4l 7! 8

smallest

11 Add and Subtract.

a) 3 + i =
11 11

py 20 . 7 =
12 12




Section C: {1¢ marks} -

Read the questions carefully: 4

Show your working in the space given. You may draw medels.

12 Peter had $100.
He bought a shirt for $25 and a jacket for $48.

(a) How much did he spend on the shirt and jacket?

He spent $ altogether.

(b) How much money had he left?

Hehad $ left.




13 Tom-cut a fruit cake into 10 equal pieces.

He ate % of the fruit cake.

Simon ate % of the fruit cake.

(@) What fraction of the fruit cake did the two boys eat?

Thetwoboysate . - - . ofthe friiit cake.

{b) What fraction of the fruit cake was left?

-of the fruit cake was left.

<




14

Dannhad some marbies.

% of his marbles are blue.

[~-J R

of his marbles are green.

What fraction of his marbles are blue and green?

of his marbles are blue and green.

\ Ol
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Q1 Q2 .1 Q3 Q4 Q5

3 - 13 ) 2 4 3

Q6.2) $4.50
b) 12

Q7.3a) $7.25
b) $80.62

Q8. $25.50
Q9. $48.08

Q10. a) 7/9, 419, 2/9
b) 4/8, 1/7, 1/4

Q1. a) 811
b) 3/12

Q12.a) $73
b) $27

Q13. a) 710
b) 3/10

Q14. 5/8
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